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Which module gives conlrol of the CPU lo the
process selested by the short-lerm scheduler?
(A) Dispatcher (B} Intemruptl

(C) Scheduler (0) None ol these

The processes that are reskiing in main
memory for execution are kepl on a list called:
{H JOb queus

B) Ready quaue

{C) Execution queue

(D) Process queue

The interval lrom the time of submission of a
pmﬁ fo the time ol completion is termed

IA}I Wailing time (B} Tumaround lime
(C) Responso time (D) Throughput

. Which scheduling algorithm allocales the CPU
' }iirst?tn ihe process thal requesls the CPU
rsi

(A) First-come firsi-served scheduling

(B) Shartest job scheduling

(C) Prorily scheduling

(D) None ol these

In priorily seheduling algonthms

(A) CPU is allocated fto_the process wilh

highest prionty

(B) CPU is allocaled Io lhe process with
lowast prionty

(C) Equal prioniy processas cannol be
scheduled

(D) Nonge ui ihese

In prionly scheduling - algorithm, when a
pcess arnves alihe ready queus, Iis prionty

s comparad with the pronty of.

(Al All process

(B) Currenily running process

(C) Parent process

(D) Init prozess .

Time guanium is defined in: .

(A) Shortest job scheduling algorthm -

(B) Round robin scheduling a'gerithm

(C) Priority scheduling algorithm
(D) Multilevel queue scheduling algorithm
in mullilevel leedsack scheduling algonthm;

{A) A process can move o a different

classfied ready queus
{B) Classificalion of ready quevs is
permanent
[C) Progesses ate nol classified inlo doups
(D) None of |be menticned :

Which one of the (ollowing- cannol be
scheduled by Lhe kemnel?

A) Kemel leve! thread

EE} User level thread,

(C) Process
{@) None of thesa

A process ralors 1o 5 pages, A B, C,'D, E in

‘ heorden A, B.C.D,A.B.E.A B, C.D.ENl
the page replacement algorithm is FIFO, the
numiber of page franslers with an emply
Inlemal store of 3 frames is:
in) 8 {8) 10
(C) 9 o) 7

LAR

12.

A memory page containing a8 heavily used
vnnabltuu%t was inlinlized very early and is n
constan! use Is remove and then the page
replacement algonithm used is:

{A) LRU (B) LFU

{C) FIFO (D) None of these
Users are thal Their processes are
funning on a paged sysiem

{A) Aware {B) Unaware

(C) Inlormed {D} None of these

The aim of creating page replacement
algorilhms is (o:

(A) Replace pages faster

(B) Increase the page faull rate

{C) Decrease the page faull rate

(D) To aliocate mulliple pages 1o processes

. A FIFD replacement alganl.hrn associales vrl.h

each page the
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Jl'l'l'dﬂ is o tensor of rank:
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(b} Do not commute
(d) None of these

Frst law of thermodynamics is a special form of:
(@ Law of Conservation of energy
(o) Law of conservation of momentum

PU2. mo with
hoxt mﬁ‘ﬁﬂmwmlvm
(b) 45°
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Elecyo m

A s —c

- W+ 9) (b) A Cos (wt -

14, hich ome of e olowin ) Sin D
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a) A-rays
(c) Radio waves Sound

(¢) Law of inertia
(d) None of ihese
in spherical polar coordinales, he range of
varisble @ Is from:
) 0—=/2 L) n/2-n
() 0= x 0—»2n
Moment ol inertia |s & tensor of rank:
63 (b) 27
(c)0" d)4 S0 its velocity
The Range of projectie will be same when the ‘h‘; e In ifs velocit
angle of projection ore: ’ I H:lﬂ'ﬂlﬂ-‘lil'!r
(a) 20° & 80° @Wlﬂ' ¢l’ vie inkens
(c) 25* & 50° ) 20° & 45° amount of h.f.". given 1o under |
mmﬁmnhrWMImw condition will tesull in: pas
complete oscillation is: -, Doing extemnal :
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assumplion about (1) structure of matier (B)
radiations (11l) ficlds. : .
[-}nm{uum (b) Onty {11}

¢) Only (1l1) is true
27. Il]hm syslems A
fibrium with
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(A) A relationship se1

(8) hmmlnuﬁwm
iﬂi A one-lo-miny relationship sel

D) BothAandB -

In which of he following. 8 separate schema
is created consisting ol that attribule and the

(C) No partial FDs exist
(D} No partial MVDs exisl.

can help us delect poor E-R

[A; Eltlblin Design Process
(B) E-R Process

E
{E} scheme
) Functional dependencies
Build & Fix Mode! is suitable for amming
exercises LOC (Line .

ol Code)
EA} 100-200 (B) 200400
C) 400-1000 (D) Above 1000

What ks the best way (o represent
atabase?

(D) M

Which ohe of the foliowing modeis is nol

suitable lor nccommodaling any change?

A) Build & Fix Model

8) Prototyping Model

C) RAD Modei

(D) Waterfall Model

Which one of the following is not a phase of
Model?

(A mﬂlﬂ ¢

13. Prototype Refinement

{0) Enginesr Product

RAD Model has:

(A) 2 Phase (B) 3 phass

",

A

Advanced PPSC MCQgs Model Papers __ T91
(C) S phases (D) & phases

47, What is the mapr drawback of using RAD
Model?

(A) Highly specialized & shited developers /
designers are

requred
(8) Increases re-usabily of components
(S} Encowages customericlent lpedback
(D) BathA&C

SDLC stands lor.
Saftware Development Lie
opmani Life LWy
?r
F 4
- N user s
s af

be

(D) BalhB & L

Two doviCes ang
(A) A

V
Ratwork .
one dewice is able lo
[grmalisn with & process in

B B e e
,’? (€ ol ihe processes

arne same
(GY None of these

%ﬁ computer nelwork nodes are:
1
8)

r

The computer thal eriginates the dala
The computer thal routes the data
C) The computer that lerminales the data
D} Al ol these .
52 Communication channel is shared by all the
machines on the network in’
{AI Broadcast network
(B) Uni-cast network
{g} Multicast network
) None of these

Bluelooth is an exampie of.
{A:u area network
B) Local area network
. (C) Virual prvate network
(D)} None ol these
A ___is a dewce lhal {mll;l:
cheds between
i omaio o e
A
1:; nﬁﬁ (D) Al of these

A kst of protocols used by a system, ong
protocol per layer. is called.

(A} Protocal architecture

{B) Protocol stack

(C) Protecol suil

(D) None of these
In case ol traffic overloading

A
B) When a system terminales
Ec;; wnn-nl between two nodes

53,
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reference

(A) Tﬂhmhﬂﬂlﬂhlnmm

[B) Size of the memory
(c Pnnllnum.urml
(D) Al of these

1A) mﬂwmwmlmm
(8) nwﬂmmmmmmm

(%] #ﬁmwMﬂmhmlﬂ
ime
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page - repllumml sigorithm 15
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(B) 1 requires fulure knowledge of the
reference

sinng
(C) Nis 100 complex :
(D) It is extremely exponsive

o mmmmmmmu

} Time mmmrnmr
8 P
ore
(D) Aliof these -

is the
siing: 7012030423032120

27.
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The Interrupl-reques! Iine ia part of the:
(A} Data lne (8) Conlrol line
(C) Address line (D) None of these

The retumn address lram the intemupt-service

rouling is stored on Ihe.

(A} System {B) Precessor regster

(C) Processor (D) Memory

The signal sent 1o the device from the
to the device afler receving on

(A} h!enuphr.unuwlldg!

13] Hﬂmnm
(D) Permissign signal g
A consists of nlcgn:ﬁm
o ' @
A / (B Fi
(c 0 K
A o 0.2 fepresents @
relatonship among a set of values.
{A) Column |8y Koy
{C) Row ) Enty
Tha lerm emusﬂlinrﬂnhlm
m mm (B8) Tuple
(D) instance
Inrrn u\ﬁme referstoa ____cla

(8) Column
(D) Key

170, Hnrnm:rpmhuhdulmmu
er (8 15 ' lﬂl
(C) 11 (D) 12 2 B Murlltelmmn fon there s a set

19. CPU lefches the instruction from

o the value of.
{65 ;muirlm
% Instructlion register J
(D) Program status word ’ &

A

{HI Relation

lﬂ:; Set ) Schema

Jnmmmmhnm
dependency?

¥
} Functonal dependency
B) Equakty-generating dependencies
{C) Mullivalued dependencies
{0) Non-functional dependency
Tha main iask camied oul in the

II:bhl remove repeating attribules “1o separa immlﬁl
{A) First Normal Form

(B) Second Normal Form

{C) Third Normal Form

(D) Fourth Normal Form

Which ol the normal form & based on mull-

valued dependencies?

(A) Firmi |B) Second

(C) Third {D) Fourth

Which lorms has 2 relalion (hal possesses
data aboul an indrwdual entil

{A) ZNF 8 3

(C) 4ANF (D) SNF

Which of the lollowing has each relaled entity
sel has s own schema and there = an
additional schema for he relationship set?
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(D) None of these
ﬂ.iﬁﬂmmﬂhmm privala
network across public netwaorks? .
{A) Local area :
EE} gmnmmm
m{ Slorage area network
rames
f':} Packets - Ei None of thesa
9. Which one of the foliowing is not a function of

B4. ICMP is primarily used (ar
Enwwmw

B) Addressing

(C) Fomward

(5) Nona of e
B5. The lexical

"\.“m
s T
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(0) R vese
65, :
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68 The number of pixels stored in the frame
buffer of a graphics system is known as-

(C) Moss {0} Nepe'a these

69. Ingﬂpﬂnllrrﬂumhmﬂnfpm [
picture is stored in: T
A) Memory 13_! Frame buller
D) All of these

70. Which of the is key characteristic of
foliowing is key

) Alraid 1o say they don'l knew the answer
8) mﬁnﬂmumhfm
E; MNo! to BAGWErs on | hair own

™. Which focuses on the
nk m
st ] unknoam
(A) Data <&
{Bj Big Data O
C) Data wrangling

(D) Machine Learning Q
72. Which process model shoulsbe used in
wirtually all situations of w7
(8), Waterah Moser &
_Waterfall Model
(C ‘*huum \0
gmnu ol Ihlsl‘
3 ;
“Ihe web process lramework?
&) oot
c Anal .
]%Hhu i
74 _Mhich of he following statements
¢ Incorect  with  ralerence 1o nth-hu:::
Web-based systems.
o M
ndmm uncertain, random heavy
159 A ot 5 o opid, socka
ethical scnutiny =

75 Whal cal

{TCMI&. 1
Warld Wide Web
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